[Freeﬁﬁ] RoElFrlE t
6HE RHOEEFAIEFYS0~— (http://net-banba.com)
2023/08/14 (B) ®IL 55

B R A A TR C 3B A
N\ 258 A= = = N 7
REEE | SRR PR s s
VA p
5 21000
19:20 . ) 32000 ®
Bk \rIG’ *!J 73\ ‘ ® 270000 @ 102000 ®R5§§§9000 prev=ss ?EED K | B5% | 255
A b2 i =
-7 {8 = SER  |aw 4w 50 A A
B3 & 3 R PROE S 0 B | A | A
<AEH> = 2 R TaE 3005 R TE 422 —— SIMEEE IS b
.‘:II:'.:%% b4 B0 a6 s 110 ST e B o g 0k 63| AE— RN BB N
& 5 R . NN
LI TIPLIT weaim e 688246 899%§§<0%£§ é%&e 86 %23@ 2%?7@5?0% '53’”‘% ?5;3;1: PR 2 i%égé S %% %;3% 56%  20% | F. COBEFRSKENBN E ‘ c
X7 Z = " K B ) . [—B\ET] 2.23,
25— 3a0 E ST SR FE AR R e e o S - 5510184
110 AR—/){—F 5 B . i o e LS N 6L§46 thE<0BLD | 0 BAs R S - BE L FOEROMDRSNA BIEX @ >
ens 600 BB B— g T0F 53  10X(7/8 BLUCS sk 000 BESOIE o o 00K | 6 | 600K 3 (S EBSEEEN
TeRE e b6 mammalaot 994 BO-T DN\aEE 20K #EE D067 858 2 | ook SLEE Doy 200 | \—6B<SEBES
RAFFTIaD HARR 236|B3-6 BEFRAIL K ftE= 1.3k 6 De ®D 8 2.06.7 8 58 = fFEA ] 2.16.9 D ‘ D *EE
BIEEA 1.3% 620@ e GO0 7 2.14.8 59 68 e \4\, Pady #h% < | 2.00.6 q’hﬂ;’ R 8& 1410 c ‘ B ‘ B ‘
NI5— 1| 9 2.26.6 53 B ] 15,0 Lo eNe e 20.6 S aE oA 6/18 T0RTE &% 161 B, BRES
2| 2|0 F3oIA B lmrar 04 ronbse 0 EmER 150 T0F 0% 64 6/24 TR T {13036 B 20 [ I5 L T L e pes | 3o LS. B 5
W EE— 620 $§|’J: 2 EF&A | 40.4 7{&\ TE TR 7717 10R U AT 1104|B3-7 EE@B/szZOK ZGith— 1.2% 8 620K [[84 [ 6 |H N N —ZICFORL % 5 5 10 5
xB% TNELSS mrsmaaon  110il8as Voo K Fi— Ora oW F8w 4 4610K B0 | ooy 1oy |13 TEPEHTAL—ZIC
AT HT® 214|B3-6 E’%%E"ﬁo@K e 10 22-(2)"% 86%? [ 2 1489 %@6 aFvl 1870 i 1,048 zsﬁ " B | A|C|A]|D NN NN
« Ul. 4 KwOY3 * 5
313 1A NYINY th — i 8 129'95@}4 0 08 A 7w1ﬂ%_%§@,\g‘§£3%§ V82 B4 T JRZ ?f BT o 3 é EROKOREOME LF. fIEGER | | 10‘ 1 ‘ 1 ‘ 8 ‘ 4 ‘
ol 630 T —K lgmer 1o 0k T0%E 9/ [7/9 R wE 910|B4-6 EBEY 00K A 500K 4 | %500k [ 29 el FEOIASHIS
DSt 267811723 ~ TR 720 970|B3-6 RIS Bk ik 22% 6 De ®D 3 | %590k R [ oan| 13% | BARSRSHICFOTHEDA j==1
RFIRLIY gy g 252|B3-6 EIESAIT K oAk 12% 62 Q.58 2 1534 ,5 & A | oz TES | e E ‘ B
B rAEALOE 1.3% 620@‘ 65 6 2128 47() & .93. m EFES| 1490 ﬁgu At D ‘ B ‘ B ‘ =
— 6 2.045 47 61 ) 'ym— ETHES| 1.6 Xgl‘ 2% 5A| 6/17 12R 2% B3-6 0] 1 - =Tl T 3 5 10 1
4|4 AOAE=) o = o530 e 111 (O0F 3% 5K 16/24 TR 2E %6 B35 3 L 2 LamaEm@msonss)(—T
BEEX 620 PR AR lemwal s Zot5 TX[1/15 9R AFE 1060 B3-7 EE@WJZZOK BAE 1. 4% 5 | s20k 7216 & R (CHS &
Big® AR LR T 1| AT, 30K BAE 0T% 6206 BIE 8 | s20K BAR gy 1% | TW3. 513 3MIBDEERL -
LEATIETTT MG 273|B3-6 BEESIAEIL 0K BAE 29% 6 P00 3 1.55.3 4 64 i 1.61.1/18% D ‘ B (=] 5101
BR % = % e 4 1.53.1 59 (8 oY s [EEEC] D150 [EFFAL L # 0 B [ B | B |
> IV 1 35 /19N . .8 MIYIINP 6/5 9R 4 p
55| AO jl‘jyjl\jg - 3 19.%5.gy360j_l/58 EFEAL103 SPoIUY <3 | e Eﬁamjgr_e% AL Ro zf BA-10 , o 2 é EiRSCEBE CFHES, ARETHH . 3 1sla
AEEA 630 B RN T BLTs _1090|B3-7 3 20K BEZ iok | @ | 610k [T76 i i 5 10
v 20 B8 masmalaog 1005 Ba7 ohagE OK EHE 0.1% 6206 BEE 2 | 6lK BEE | 19y 13| DZ>HUTONE AT
RARTESTTY HEm% 166 B3-6 EELESEWEITL K RS 13% 63 ot 4 2.05.2 | 66 BEHE s 01707 '9% B ‘ E =1
Ba—LL7q 136 630K BEH 4 92110 .2 63 7 SRS ] D04 e 1] 7101 p A \ c ‘
. oY 38 /35N63 NP 5/27 IR 3%
6|6 |A A4 NI s 7 128.054.Zy3377_l/61 e 9.2 BeerLiabon é£?4f<899;§¥<0%‘$7§ BT 12R1 ;‘f B35 é BE FESEDEETRENS. BE0 EH
PEEL 530 4@ = [ EETME] 8. TS aE AT/ /R Af 1035|B3-6 B 620K BAR S0k | 8 | 620K [ = PPN
INERIEK - 2973(7/29. _9R__ e 1053|B3-6 é%sal#BmBOK BN 07% 6 9. 05 10 620K BARE | 5on | 11y | BENIETERO\EERS
LFE/F—AT gy 176|B3-7:8& £+1§§620K ST 12% 6 D e ©8 6 2.02.4 4 70 BAR EREA | 2.1/.1 7" E E =5 ‘ 4‘ 4 ‘ 10 4 4
BATL— W7 5 1.2950 ©:'@8(:g) 8 |2295 A NI 163 Lo 577 6.1:3% o/3 R 1% 50 g ‘ B ‘ c ‘ ‘ & o
T A (FDOFVAN ‘ 299 % EEEE| 27,8 YITINIT- | EEIA I L * N AL sy (B8 g o BIEREE I T he). EEO VR
ik 090 BR ¥ i i R S Bg{; It .08 3|tk 7 BRE o on [ RBF I FOTHARNLS | 10 10‘ 5‘ 5‘ 7‘ 8‘
7 AR j7/\BS-TRS BABRRE 0102 ' 0. 00 1.48.7 4 47 2073 (EFFA] 2.03.8 | 2% 0% 2 c E
BhANa 12% 6 2«02 6 1.54.2 4 53 ’ 15 M s 2013 & : W0 e B ‘ c ‘ =]
—_ 4. - FAXAD 6/4 9R 6% !
8 AAXH vy IT @_2 4 2'25'75; s\ D 15 Eeer Pt ar =7 MR ;% i R NEAIRLE ff B3-6 " . 52 quig,‘nég@;(mmﬁ@a B335 - -
e 630 MIF BT |semme 1o SR 6E  3AT/0 R AE _ 934|B3-7 FOHA G20k BAE 1.2 S | 620k 53 7| = ETORL 4 10
B> s 30337731 9R 922|B3-6 ERI1F5y Ok Bk 0.7% 6 9«06 S | 620K FER [ 93y | 2oy | DEREEHTIHI T FOIE 3
AR EL Iy 205|BA-10RS W10l . 922 1.2% 630K BB 9O |2.15.1 3 76 o wwan | opb | 25 c | B & A 4
B2 % 36 80 4 9113 s 8817 A A 50 RER T 0 @ | B | C | 255
= 2 1443 30 58 6 YD R 2.6 TR eE K 6/18 10R TR 5 - g & EHEOrE | | 8 4 105
9 A N : £y pr b Ty Rl X T A A B3 L e
PAES A BT wmwn] 0.0 vek 2X(7/16 _9R___OF 1035|538 Ry o 102 1.2% 0K 756 | FEER et v
. fﬁjfi\mfsoﬁgﬁ g R 01 [B5 i8S =oco@h nER |k e ,%‘:(% 6 gk 3 %ﬁbﬁs 208 134 [RIBUBDR L~ ZIIFATRS » 34 e 8‘
22 Ao . . et o 7 o] 2.00.
Bt ¥ _ 126 630K B2% 4 1157 VAL y B0 EETH| 2.01.8 [#FFE 57.23 7R
10/ 00 ﬂg/jjl_ﬁ_— 2 1.594 *3\%\66 | 164 £5 KR wEEC] 50 UE 9R 1% [ /T 9R 2% ﬁﬁ%:*]?fl/_zﬁ* =
REOA 530 75 ITA BEE<] 9.5 A-I3 R 2% [ T/9 R 1% [ /8 FUTH | 838 BEGEHT 2 | piah L . 1.46.2 5AS
R R 1% [ 7723 TR 13% | 7/15 JE4 | B3-6 WHIFXEPAB | B3-7 WLSEE 1 6 FwhoF—L 630 MUE
=[B[R[S[E[] /B M | 836 MEERALLL0 | B3-4 SYOSPARE 630 FH— 1.47.6 AR
e E5 BT WP = | e wrus U HEE 2 2 ENYUIr V- 2 IA&
== HHER |+ 7 622 14.8 Yans>T 630 EAE 1.55.
= o © © 620 FTEF ’ - £@F 1.56.2 1AR
11| R—/8—F3 o 9 2_26.5_ 4 7 PAIIRT 600 &
2)2|%aTANE— © g 50 .2F 6 W FEX - 620 PlE 2.04.0 BAK .
A o|O 520 HATA 2.12.8 5 9 = 2.04.5 AR | - ey
3(3/7450y 6 2.04. _ 620 RIA 2. ®-onk FUSrcerrs
42 E—n A 3 632 SS%XZEWEFE 4 533 11%%%1"« E v = 630 EBL 2.04.7 3AK 'joi
SansT A B30 BEE — yriny ®— 2053 TAR -
5/530Yan3 7 2047 g 630 _HAE 0 SAE | RIDIY 630 it .
Sx4hyF *620 SHF 2:29:3 3 621.455117 - N 620 #1LE 2.26.6 10A%
66>z A A5 "509.0 6 6% FIE oINS e
7| k3 BYATE 4 5% FTE B e RLE 0 620 BEK| | 4 ouEILE 630 R
T e %5/ rvTT—2 © : e 4 ".488
9| FAFUF > 632 Sgif??
8 o5 Tom— ©|0




